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COMPUTATION
[ 35 Marks ]
ADD:
1 2159 g 2 4[_]6
+ 840 + 38 &1
56 40
SET L
11 [2
1 3
3 4-§+7;=j 4.2178+11+10’E=D
Answer: Answer:
3 2
SUBTRACT:
5. 8759 6. 1072
6648 893
(1] [2]
7. 7.625 -.012 =D g 2.2 =
7 7
Answer: Answer: -[1] 2]
[GO ON]
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MULTIPLY:
9. 420 10. 3* X 62 =
X 10 D
[2] [3]
9 = §. §. -
11. 25% of 180 D 12. 3 X 4XB-D
Answer: Answer: [2] [3]
DIVIDE:
13. 6 , 720
Answer: [1]
14, 13, 179.4
7 Answer: [2]
EVALUATE:
- 15, 3X5—12+4+6=D
Answer: [3]
[GO ON]
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16. Find the value of ‘T in the equ

12T = 168

ation.

_[2]

Answer:

1

-
~
o))
W] =
+
O &
|
RS

Answer:

(3]

[STOP]
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